# PERIODIC SOLUTIONS FOR TOTALLY NONLINEAR NEUTRAL DELAY DIFFERENCE EQUATIONS 

ERNEST YANKSON AND EMMANUEL K. ESSEL

Abstract. We obtain sufficient conditions under which solutions of certain classes of totally nonlinear neutral delay difference equations are periodic. A reformulated version of a fixed point theorem of Krasnoselskii is used to arrive at the main results. The results obtained in the paper generalizes the work in 8 .

## 1. Introduction

Periodic solutions of difference equations has been studied extensively in recent times. We refer to [1]-[2], [5]-9] and the references therein for a wealth of information on this subject.

In this paper we study the existence of periodic solutions of the equation

$$
\begin{align*}
\Delta x(n)= & -a(n) h(x(n+1))+c(n) \Delta x(n-\tau(n)) \\
& +G(n, x(n), x(n-\tau(n))), \forall n \in \mathbb{Z}, \tag{1}
\end{align*}
$$

where

$$
G: \mathbb{Z} \times \mathbb{R} \times \mathbb{R} \rightarrow \mathbb{R}
$$

with $\mathbb{Z}$ and $\mathbb{R}$ being the set of integers and real numbers respectively. Throughout this paper $\Delta$ denotes the forward difference operator $\Delta x(n)=x(n+1)-x(n)$ for any sequence $\{x(n), n \in \mathbb{Z}\}$. In $[8$ the authors considered (1) when $h(x(n+1))=x(n)$.

## 2. Preliminaries

Let $T$ be an integer such that $T \geq 1$. Define $P_{T}=\{\varphi \in C(\mathbb{Z}, \mathbb{R}): \varphi(n+T)=\varphi(n)\}$ where $C(\mathbb{Z}, \mathbb{R})$ is the space of all real valued functions. Then $\left(P_{T},\|\|.\right)$ is a Banach space with the maximum norm

$$
\|\varphi\|=\max _{n \in[0, T-1]}|\varphi(n)| .
$$

Also, for any $L>0$, define

$$
\mathbb{M}=\left\{\varphi \in P_{T}:\|\varphi\| \leq L\right\}
$$

In this paper we assume that

$$
\begin{equation*}
a(n+T)=a(n), c(n+T)=c(n), \tau(n+T)=\tau(n), \tau(n) \geq \tau^{*}>0 \tag{2}
\end{equation*}
$$

for some constant $\tau^{*}$. Suppose further that

$$
\begin{equation*}
a(n)>0, \tag{3}
\end{equation*}
$$

2010 Mathematics Subject Classification. 39A10, 39A12.
Key words and phrases. Fixed point, totally nonlinear difference equations, large contraction, periodic solution.
and

$$
\begin{equation*}
G(n+T, x, y)=G(n, x, y) \tag{4}
\end{equation*}
$$

Moreover, we also assume that $G$ is Lipschitz continuous in $x$ and $y$. That is, there are positive constants $k_{1}, k_{2}$ such that

$$
\begin{equation*}
|G(n, x, y)-G(n, z, w)| \leq k_{1}\|x-z\|+k_{2}\|y-w\|, \text { for } x, y, z, w \in \mathbb{R} \tag{5}
\end{equation*}
$$

Lemma 1. Suppose that (2) and (3) hold. If $x \in P_{T}$, then $x$ is a solution of equation (1) if and only if

$$
\begin{align*}
x(n)= & \frac{c(n-1)}{1+a(n-1)} x(n-\tau(n))+\left(1-\prod_{s=n-T}^{n-1}(1+a(s))^{-1}\right)^{-1} \\
& \times\left[\sum_{r=n-T}^{n-1} a(r)(x(r+1)-h(x(r+1))) \prod_{s=r}^{n-1}(1+a(s))^{-1}\right. \\
& \left.+\sum_{r=n-T}^{n-1}\{x(r-\tau(r)) \phi(r)+G(r, x(r), x(r-\tau(r)))\} \prod_{s=r}^{n-1}(1+a(s))^{-1}\right] \tag{6}
\end{align*}
$$

where

$$
\begin{equation*}
\phi(r)=\frac{c(r-1)}{1+a(r-1)}-c(r) \tag{7}
\end{equation*}
$$

Proof. Let $x \in P_{T}$ be a solution of (1). Rewrite (1) as

$$
\begin{aligned}
& \Delta x(n)+a(n) x(n+1) \\
& =a(n) x(n+1)-a(n) h(x(n+1))+c(n) \Delta x(n-\tau(n))+G(n, x(n), x(n-\tau(n))) \text {. }
\end{aligned}
$$

We consider two cases; $n \geq 1$ and $n \leq 0$. Considering first the case when $n \geq 1$ by multiplying both sides of the above equation by $\prod_{s=0}^{n-1}(1+a(s))$ and summing from $(n-T)$ to $(n-1)$ we obtain

$$
\begin{aligned}
& \sum_{r=n-T}^{n-1} \Delta\left[\prod_{s=0}^{r-1}(1+a(s)) x(r)\right] \\
& =\sum_{r=n-T}^{n-1} a(r)\{x(r+1)-h(x(r+1))\} \prod_{s=0}^{r-1}(1+a(s)) \\
& +\sum_{r=n-T}^{n-1}\{c(r) \Delta x(r-\tau(r))+G(r, x(r), x(r-\tau(r)))\} \prod_{s=0}^{r-1}(1+a(s))
\end{aligned}
$$

Which gives

$$
\begin{aligned}
& \prod_{s=0}^{n-1}(1+a(s)) x(n)-\prod_{s=0}^{n-T-1}(1+a(s)) x(n-T) \\
& =\sum_{r=n-T}^{n-1} a(r)\{x(r+1)-h(x(r+1))\} \prod_{s=0}^{r-1}(1+a(s)) \\
& +\sum_{r=n-T}^{n-1}\{c(r) \Delta x(r-\tau(r))+G(n, x(r), x(r-\tau(r)))\} \prod_{s=0}^{r-1}(1+a(s))
\end{aligned}
$$

By dividing both sides of the above expression by $\prod_{s=0}^{n-1}(1+a(s))$ and the fact that $x(n)=x(n-T)$, we obtain

$$
\begin{align*}
x(n)= & \left(1-\prod_{s=n-T}^{n-1}(1+a(s))^{-1}\right)^{-1}  \tag{8}\\
& \times\left[\sum_{r=n-T}^{n-1} a(r)(x(r+1)-h(x(r+1))) \prod_{s=r}^{n-1}(1+a(s))^{-1}\right. \\
& \left.+\sum_{r=n-T}^{n-1}\{c(r) \Delta x(r-\tau(r))+G(r, x(r), x(r-\tau(r)))\} \prod_{s=r}^{n-1}(1+a(s))^{-1}\right]
\end{align*}
$$

By performing a summation by parts on the above equation we obtain

$$
\begin{align*}
& \sum_{r=n-T}^{n-1} c(r) \Delta x(r-\tau(r)) \prod_{s=r}^{n-1}(1+a(s))^{-1}  \tag{9}\\
= & \frac{c(n-1)}{1+a(n-1)} x(n-\tau(n))\left(1-\prod_{s=n-T}^{n-1}(1+a(s))^{-1}\right) \\
& +\sum_{r=n-T}^{n-1} x(r-\tau(r)) \phi(r) \prod_{s=r}^{n-1}(1+a(s))^{-1}
\end{align*}
$$

where $\phi$ is given by (7). Finally, substituting (9) into (8) completes the proof.
Now for $n \leq 0$, equation (1) is equivalent to

$$
\begin{aligned}
& \Delta\left[\prod_{s=n-1}^{0}(1+a(s)) x(n)\right] \\
& =a(t)\{x(n+1)-h(x(n+1))\} \prod_{s=n-1}^{0}(1+a(s)) \\
& +\{c(n) \Delta x(n-\tau(n))+G(n, x(n), x(n-\tau(n)))\} \prod_{s=n-1}^{0}(1+a(s))
\end{aligned}
$$

Summing the above equation from $(n-T)$ to $n-1$ we obtain (6).
In the proof of our main theorem, we employ a fixed point theorem in which the notion of a large contraction is required as one of the sufficient conditions. First, we give the following definition which can be found in [4].
Definition 1. Let $(\mathbb{M}, d)$ be a metric space and $B: \mathbb{M} \rightarrow \mathbb{M}$. $B$ is said to be a large contraction if $\psi, \varphi \in \mathbb{M}$, with $\psi \neq \varphi$ then $d(B \varphi, B \psi)<d(\varphi, \psi)$ and if for all $\epsilon>0$ there exists $\delta<1$ such that

$$
[\psi, \varphi \in \mathbb{M}, d(\varphi, \psi) \geq \epsilon] \Rightarrow d(B \varphi, B \psi) \leq \delta d(\varphi, \psi)
$$

The next theorem, which constitutes a basis for our main result, is a reformulated version of Krasnoselskii's fixed point theorem.
Theorem 1 (Krasnoselskii-Burton [4]). Let $\mathbb{M}$ be a bounded convex non-empty subset of a Banach space $(S,\|\cdot\|)$. Suppose that $A, B$ map $\mathbb{M}$ into $\mathbb{M}$ and that
(i) for all $x, y \in \mathbb{M} \Rightarrow A x+B y \in \mathbb{M}$,
(ii) $A$ is continuous and $A M$ is contained in a compact subset of $M$,
(iii) $B$ is a large contraction.

Then there is a $z \in \mathbb{M}$ with $z=A z+B z$.
For the next lemma we make the following assumptions on the function $h: \mathbb{R} \rightarrow \mathbb{R}$.
(H1) $h$ is continuous on $U_{L}=[-L, L]$.
(H2) $h$ is strictly increasing on $U_{L}$.
(H3) $\sup _{s \in U_{L} \cap \mathbb{Z}} \Delta h(s) \leq 1$.
(H4) $(s-r)\left\{\sup _{i \in U_{L} \cap \mathbb{Z}} \Delta h(i)\right\} \geq h(s)-h(r) \geq(s-r)\left\{\inf _{i \in U_{L} \cap \mathbb{Z}} \Delta h(i)\right\} \geq 0$ for $s, r \in U_{L}$ with $s \geq r$.

Lemma 2. Let $L$ be a positive constant and $h: \mathbb{R} \rightarrow \mathbb{R}$ be a function satisfying (H1)$(H 4)$. If $(H \varphi)(n)=\varphi(n+1)-h(\varphi(n+1))$, then $H$ is a large contraction on the set $\mathbb{M}$.
Proof. Let $\phi, \varphi \in \mathbb{M}$ with $\phi \neq \varphi$. Then $\phi(n+1) \neq \varphi(n+1)$ for some $n \in \mathbb{Z}$. Define the set

$$
D(\phi, \varphi)=\{n \in \mathbb{Z}: \phi(n+1) \neq \varphi(n+1)\} .
$$

Note that $\varphi(n+1) \in U_{L}$ for all $n \in \mathbb{Z}$ whenever $\varphi \in \mathbb{M}$. Since $h$ is strictly increasing

$$
\begin{equation*}
\frac{h(\varphi(n+1))-h(\phi(n+1))}{\varphi(n+1)-\phi(n+1)}=\frac{h(\phi(n+1))-h(\varphi(n+1))}{\phi(n+1)-\varphi(n+1)}>0 \tag{10}
\end{equation*}
$$

holds for all $n \in D(\phi, \varphi)$. By (H3) we have

$$
\begin{equation*}
1 \geq \sup _{i \in U_{L} \cap \mathbb{Z}} \Delta h(i) \geq \inf _{s \in U_{L} \cap \mathbb{Z}} \Delta h(s) \geq 0 \tag{11}
\end{equation*}
$$

Define the set $U_{n} \subset U_{L}$ by $U_{n}=[\varphi(n+1), \phi(n+1)] \cap U_{L}$ if $\phi(n+1)>\varphi(n+1)$, and $U_{n}=[\phi(n+1), \varphi(n+1)] \cap U_{L}$ if $\phi(n+1)<\varphi(n+1)$, for $n \in D(\phi, \varphi)$. Hence, for a fixed $n_{0} \in D(\phi, \varphi)$ we get by (H4) and 10 that

$$
\sup \left\{\Delta h(u): u \in U_{n_{0}} \cap \mathbb{Z}\right\} \geq \frac{h\left(\phi\left(n_{0}+1\right)\right)-h\left(\varphi\left(n_{0}+1\right)\right)}{\phi\left(n_{0}+1\right)-\varphi\left(n_{0}+1\right)} \geq \inf \left\{\Delta h(u): u \in U_{n_{0}} \cap \mathbb{Z}\right\}
$$

Since $U_{n} \subset U_{L}$ for every $n \in D(\phi, \varphi)$, we find

$$
\sup _{u \in U_{L} \cap \mathbb{Z}} \Delta h(u) \geq \sup \left\{\Delta h(u): u \in U_{n_{0}} \cap \mathbb{Z}\right\} \geq \inf \left\{\Delta h(u): u \in U_{n_{0}} \cap \mathbb{Z}\right\} \geq \inf _{u \in U_{L} \cap \mathbb{Z}} \Delta h(u)
$$

and therefore,

$$
\begin{equation*}
1 \geq \sup _{u \in U_{L} \cap \mathbb{Z}} \Delta h(u) \geq \frac{h(\varphi(n+1))-h(\phi(n+1))}{\varphi(n+1)-\phi(n+1)} \geq \inf _{u \in U_{L} \cap \mathbb{Z}} \Delta h(u) \geq 0 \tag{12}
\end{equation*}
$$

for all $n \in D(\phi, \varphi)$. So, 12 yields

$$
\begin{align*}
|(H \phi)(n)-(H \varphi)(n)| & =|\phi(n+1)-h(\phi(n+1))-\varphi(n+1)+h(\varphi(n+1))| \\
& =|\phi(n+1)-\varphi(n+1)|\left|1-\left(\frac{h(\phi(n+1))-h(\varphi(n+1))}{\phi(n+1)-\varphi(n+1)}\right)\right| \\
& \leq|\phi(n+1)-\varphi(n+1)|\left(1-\inf _{u \in U_{L} \cap \mathbb{Z}} \Delta h(u)\right) \tag{13}
\end{align*}
$$

for all $n \in D(\phi, \varphi)$. Thus, 12 and 13 imply that $H$ is a large contraction in the supremum norm. To see this choose a fixed $\epsilon \in(0,1)$ and assume that $\phi$ and $\varphi$ are two functions in $\mathbb{M}$ satisfying

$$
\|\phi-\varphi\|=\sup _{n \in[-L, L] \cap \mathbb{Z}}|\phi(n+1)-\varphi(n+1)| \geq \epsilon
$$

If $|\phi(n+1)-\varphi(n+1)| \leq \epsilon / 2$ for some $n \in D(\phi, \varphi)$, then from 13)

$$
\begin{equation*}
|(H \phi)(n)-(H \varphi)(n)| \leq|\phi(n+1)-\varphi(n+1)| \leq \frac{1}{2}\|\phi-\varphi\| \tag{14}
\end{equation*}
$$

Since $h$ is continuous and strictly increasing, the function $h\left(u+\frac{\epsilon}{2}\right)-h(u)$ attains its minimum on the closed and bounded interval $[-L, L]$. Thus, if $\frac{\epsilon}{2}<|\phi(n+1)-\varphi(n+1)|$ for some $n \in D(\phi, \varphi)$, then from (12) and (H3) we conclude that

$$
1 \geq \frac{h(\phi(n+1))-h(\varphi(n+1))}{\phi(n+1)-\varphi(n+1)}>\lambda
$$

and therefore,

$$
\begin{align*}
|(H \phi)(n)-(H \varphi)(n)| & \leq|\phi(n+1)-\varphi(n+1)|\left\{1-\frac{h(\phi(n+1))-h(\varphi(n+1))}{\phi(n+1)-\varphi(n+1)}\right\} \\
& \leq(1-\lambda)\|\phi(n+1)-\varphi(n+1)\| \tag{15}
\end{align*}
$$

where

$$
\lambda:=\frac{1}{2 L} \min \left\{h\left(u+\frac{\epsilon}{2}\right)-h(u), u \in[-L, L]\right\}>0 .
$$

Consequently, it follows from (14) and (15) that

$$
\mid(H \phi(n)-(H \varphi)(n) \mid \leq \delta\|\phi-\varphi\|
$$

where $\delta=\max \left\{\frac{1}{2}, 1-\lambda\right\}<1$. The proof is complete.

## 3. Existence of periodic solutions

In this section we prove our main results. We begin by defining the maps $A, B: \mathbb{M} \rightarrow \mathbb{M}$ as follows

$$
\begin{align*}
(A \varphi)(n)= & \frac{c(n-1)}{1+a(n-1)} \varphi(n-\tau(n))+\left(1-\prod_{s=n-T}^{n-1}(1+a(s))^{-1}\right)^{-1} \\
& \times \sum_{r=n-T}^{n-1}\{\varphi(r-\tau(r)) \phi(r)+G(r, \varphi(r), \varphi(r-\tau(r)))\} \prod_{s=r}^{n-1}(1+a(s))^{-1}, \tag{16}
\end{align*}
$$

and

$$
\begin{align*}
(B \varphi)(n)= & \left(1-\prod_{s=n-T}^{n-1}(1+a(s))^{-1}\right)^{-1} \\
& \times \sum_{r=n-T}^{n-1} a(r)(x(r+1)-h(x(r+1))) \prod_{s=r}^{n-1}(1+a(s))^{-1} \tag{17}
\end{align*}
$$

For the rest of the paper we make the following assumptions.

$$
\begin{gather*}
\left(k_{1}+k_{2}\right) L+|G(n, 0,0)| \leq \beta L a(n),  \tag{18}\\
|\phi(n)| \leq \delta a(n),  \tag{19}\\
\max _{n \in[0, T-1]}\left|\frac{c(n-1)}{1+a(n-1)}\right|=\alpha,  \tag{20}\\
J(\beta+\alpha+\delta) \leq 1, \tag{21}
\end{gather*}
$$

where $\alpha, \beta, \delta$ and $J$ are positive constants with $J \geq 3$.

Lemma 3. Suppose (2)-(5) and (18)-(21) hold. Then the mapping $A: \mathbb{M} \rightarrow \mathbb{M}$ defined in (16) is continuous in the maximum norm and maps $\mathbb{M}$ into compact subsets of $\mathbb{M}$.

Proof. We first show that $A: \mathbb{M} \rightarrow \mathbb{M}$. Let $\varphi \in \mathbb{M}$. Then

$$
\begin{aligned}
(A \varphi)(n+T)= & \frac{c(n+T-1)}{1+a(n+T-1)} \varphi(n+T-\tau(n+T))+\left(1-\prod_{s=n}^{n+T-1}(1+a(s))^{-1}\right)^{-1} \\
& \times \sum_{r=n}^{n+T-1}\{\varphi(r-\tau(r)) \phi(r)+G(r, \varphi(r), \varphi(r-\tau(r)))\} \prod_{s=r}^{n+T-1}(1+a(s))^{-1} \\
= & \frac{c(n-1)}{1+a(n-1)} \varphi(n-\tau(n))+\left(1-\prod_{s=n}^{n+T-1}(1+a(s))^{-1}\right)^{-1} \\
& \times \sum_{r=n}^{n+T-1}\{\varphi(r-\tau(r)) \phi(r)+G(r, \varphi(r), \varphi(r-\tau(r)))\} \prod_{s=r}^{n+T-1}(1+a(s))^{-1}
\end{aligned}
$$

Let $j=r-T$, then

$$
\begin{aligned}
(A \varphi)(n+T)= & \frac{c(n-1)}{1+a(n-1)} \varphi(n-\tau(n))+\left(1-\prod_{s=n}^{n+T-1}(1+a(s))^{-1}\right)^{-1} \\
& \times \sum_{j=n-T}^{n+T-1}\{\varphi(j+T-\tau(j+T)) \phi(j+T) \\
& +G(j+T, \varphi(j+T), \varphi(j+T-\tau(j+T)))\} \prod_{s=j+T}^{n+T-1}(1+a(s))^{-1} .
\end{aligned}
$$

Now let $k=s-T$, then

$$
\begin{aligned}
(A \varphi)(n+T)= & \frac{c(n-1)}{1+a(n-1)} \varphi(n-\tau(n))+\left(1-\prod_{k=n-T}^{n-1}(1+a(k))^{-1}\right)^{-1} \\
& \times \sum_{j=n-T}^{n-1}\{\varphi(j-\tau(j)) \phi(j) \\
& +G(j, \varphi(j), \varphi(j-\tau(j)))\} \prod_{k=j}^{n-1}(1+a(k))^{-1}=(A \varphi)(n)
\end{aligned}
$$

Consequently, $A: P_{T} \rightarrow P_{T}$.
In view of (5) we have that

$$
\begin{aligned}
|G(n, x, y)| & =|G(n, x, y)-G(n, 0,0)+G(n, 0,0)| \\
& \leq|G(n, x, y)-G(n, 0,0)|+|G(n, 0,0)| \\
& \leq k_{1}\left\|k_{1}\right\|+k_{2}\|y\|+|G(n, 0,0)|
\end{aligned}
$$

Also it follows from (3) that $1-\prod_{s=n-T}^{n-1}(1+a(s))^{-1}>0$. So, for any $\varphi \in \mathbb{M}$, we obtain

$$
\begin{aligned}
|(A \varphi)(n)| \leq & \left|\frac{c(n-1)}{1+a(n-1)}\right||\varphi(n-\tau(n))|+\left(1-\prod_{s=n-T}^{n-1}(1+a(s))^{-1}\right)^{-1} \\
& \times \sum_{r=n-T}^{n-1}\{|\varphi(r-\tau(r))||\phi(r)|+|G(r, \varphi(r), \varphi(r-\tau(r)))|\} \prod_{s=r}^{n-1}(1+a(s))^{-1} \\
\leq & \alpha L+\left(1-\prod_{s=n-T}^{n-1}(1+a(s))^{-1}\right)^{-1} \\
& \times \sum_{r=n-T}^{n-1}\left\{\delta L a(r)+\left(k_{1}+k_{2}\right) L+|G(r, 0,0)|\right\} \prod_{s=r}^{n-1}(1+a(s))^{-1} \\
\leq & \alpha L+\left(1-\prod_{s=n-T}^{n-1}(1+a(s))^{-1}\right)^{-1} \sum_{r=n-T}^{n-1}\{(\delta+\beta) L a(r)\} \prod_{s=r}^{n-1}(1+a(s))^{-1} \\
\leq & \alpha L+\left(1-\prod_{s=n-T}^{n-1}(1+a(s))^{-1}\right)^{-1}(\delta+\beta) L \sum_{r=n-T}^{n-1} \Delta_{r}\left[\prod_{s=r}^{n-1}(1+a(s))^{-1}\right] \\
= & (\alpha+\delta+\beta) L \leq \frac{L}{J}<L .
\end{aligned}
$$

Thus $A \varphi \in \mathbb{M}$. Consequently, we have $A: \mathbb{M} \rightarrow \mathbb{M}$.
We next show that $A$ is continuous in the maximum norm. Let $\varphi, \psi \in \mathbb{M}$, and let

$$
\begin{aligned}
\mu_{1} & =\max _{n \in[0, T-1]}\left|\frac{c(n-1)}{1+a(n-1)}\right|, \quad \mu_{2}=\max _{n \in[0, T-1]}\left(1-\prod_{s=n-T}^{n-1}(1+a(s))^{-1}\right)^{-1} \\
\mu_{3} & =\max _{r \in[n-T, T-1]}|\phi(r)| .
\end{aligned}
$$

Let $\epsilon>0$ be given. Choose $\eta=\epsilon / \rho$ where $\rho=\mu_{1}+\mu_{2} T\left(\mu_{3}+k_{1}+k_{2}\right)$ such that $\|\varphi-\psi\|<\eta$. Note that from (3), we have $\max _{r \in[n-T, T-1]} \prod_{s=r}^{n-1}(1+a(s))^{-1} \leq 1$. Thus,

$$
\begin{aligned}
& |(A \varphi)(n)-(A \psi)(n)| \\
& \leq\left|\frac{c(n-1)}{1+a(n-1)}\right|\|\varphi-\psi\| \\
& +\left(1-\prod_{s=n-T}^{n-1}(1+a(s))^{-1}\right)^{-1} \sum_{r=n-T}^{n-1}\{\|\varphi-\psi\||\|(r)| \\
& +|G(r, \varphi(r), \varphi(r-\tau(r)))-G(r, \psi(r), \psi(r-\tau(r)))|\} \prod_{s=r}^{n-1}(1+a(s))^{-1} \\
& \quad \leq \mu_{1}\|\varphi-\psi\|+\mu_{2} \sum_{r=n-T}^{n-1}\left\{\mu_{3}\|\varphi-\psi\|+\left(k_{1}+k_{2}\right)\|\varphi-\psi\|\right\} \\
& \quad \leq\left\{\mu_{1}+\mu_{2} T\left(\mu_{3}+k_{1}+k_{2}\right)\right\}\|\varphi-\psi\|<\epsilon
\end{aligned}
$$

Therefore showing that $A$ is continuous.
Next, we show that $A$ maps bounded subsets into compact sets. Since $M$ is bounded and $A$ is continuous, $A \mathbb{M}$ is a subset of $\mathbb{R}^{T}$ which is bounded. So, $A \mathbb{M}$ is contained in a compact subset of $\mathbb{M}$. The proof is complete.

Lemma 4. Suppose (2)-(5) and (18) hold. Also, suppose that

$$
\begin{equation*}
\max (|H(-L)|,|H(L)|) \leq \frac{(J-1) L}{J} \tag{22}
\end{equation*}
$$

For $A, B$ defined by (16) and (17) respectively, if $\varphi, \psi \in \mathbb{M}$ are arbitrary, then

$$
A \varphi+B \psi: \mathbb{M} \rightarrow \mathbb{M}
$$

Proof. Let $\varphi, \psi \in \mathbb{M}$ be arbitrary. Using the result of Lemma 3 we obtain

$$
\begin{aligned}
& |(A \varphi)(n)+(B \psi)(n)| \\
& \leq\left|\frac{c(n-1)}{1+a(n-1)}\right||\varphi(n-\tau(n))|+\left(1-\prod_{s=n-T}^{n-1}(1+a(s))^{-1}\right)^{-1} \\
& \times \sum_{r=n-T}^{n-1}\{|\varphi(r-\tau(r))||\phi(r)|+|G(r, \varphi(r), \varphi(r-\tau(r)))|\} \prod_{s=r}^{n-1}(1+a(s))^{-1} \\
& +\left(1-\prod_{s=n-T}^{n-1}(1+a(s))^{-1}\right)^{-1} \\
& \times \max (|H(-L)|,|H(L)|) \sum_{r=n-T}^{n-1} a(r) \prod_{s=r}^{n-1}(1+a(s))^{-1} \\
& \quad \leq \frac{L}{J}+\left(1-\prod_{s=n-T}^{n-1}(1+a(s))^{-1}\right)^{-1} \\
& \quad \times \max (|H(-L)|,|H(L)|) \sum_{r=n-T}^{n-1} \Delta\left[\prod_{s=r}^{n-1}(1+a(s))^{-1}\right] \\
& \quad \leq \frac{L}{J}+\frac{(J-1) L}{J}=L .
\end{aligned}
$$

Thus $A \varphi+B \psi \in \mathbb{M}$. This completes the proof.
The next result gives a relationship between the mappings $H$ and $B$ in the sense of a large contraction.

Lemma 5. Let $B$ be defined by (17) and assume that (2)-(3) and 22) hold. If $H$ is a large contraction on $\mathbb{M}$ then so is the mapping $B: \mathbb{M} \rightarrow \mathbb{M}$.
Proof. We will first show that $B$ maps $\mathbb{M}$ into itself. Let $\varphi \in \mathbb{M}$ then

$$
\begin{aligned}
(B \varphi)(n+T)= & \left(1-\prod_{s=n}^{n+T-1}(1+a(s))^{-1}\right)^{-1} \\
& \times \sum_{r=n}^{n+T-1} a(r)(x(r+1)-h(x(r+1))) \prod_{s=r}^{n+T-1}(1+a(s))^{-1}
\end{aligned}
$$

Let $j=r-T$, then

$$
\begin{aligned}
(B \varphi)(n+T)= & \left(1-\prod_{s=n}^{n+T-1}(1+a(s))^{-1}\right)^{-1} \\
& \times \sum_{r=n}^{n+T-1} a(j+T)(x(j+T+1)-h(x(j+T+1))) \prod_{s=j+T}^{n+T-1}(1+a(s))^{-1}
\end{aligned}
$$

Now let $k=s-T$, then

$$
\begin{aligned}
(B \varphi)(n+T)= & \left(1-\prod_{s=n-T}^{n-1}(1+a(s))^{-1}\right)^{-1} \\
& \times \sum_{r=n-T}^{n-1} a(j)(x(j+1)-h(x(j+1))) \prod_{k=j}^{n-1}(1+a(s))^{-1} \\
= & (B \varphi)(n)
\end{aligned}
$$

That is, $B: P_{T} \rightarrow P_{T}$.
In view of $(22)$, we have

$$
\begin{align*}
|(B \varphi)(n)| \leq & \left(1-\prod_{s=n-T}^{n-1}(1+a(s))^{-1}\right)^{-1} \\
& \times \sum_{r=n-T}^{n-1}|a(r)||H(\varphi(r+1))| \prod_{s=r}^{n-1}(1+a(s))^{-1}  \tag{23}\\
\leq & \frac{(J-1) L}{J}<L \tag{24}
\end{align*}
$$

That is $B \varphi \in \mathbb{M}$ and consequently we have $B: \mathbb{M} \rightarrow \mathbb{M}$.
We next show that $B$ is a large contraction. If $H$ is a large contraction on $\mathbb{M}$, for $x, y \in \mathbb{M}$, with $x \neq y$, we have $\|H x-H y\| \leq\|x-y\|$. Thus, it follows from the equality

$$
a(r) \prod_{s=r}^{n-1}(1+a(s))^{-1}=\Delta\left[\prod_{s=r}^{n-1}(1+a(s))^{-1}\right]
$$

that

$$
\begin{aligned}
|B x(n)-B y(n)| \leq & \left(1-\prod_{s=n-T}^{n-1}(1+a(s))^{-1}\right)^{-1} \\
& \times \sum_{r=n-T}^{n-1} a(r)|H(x(r+1))-H(y(r+1))| \prod_{s=r}^{n-1}(1+a(s))^{-1} \\
\leq \| & \|-y\|\left(1-\prod_{s=n-T}^{n-1}(1+a(s))^{-1}\right)^{-1} \\
& \times \sum_{r=n-T}^{n-1} a(r) \prod_{s=r}^{n-1}(1+a(s))^{-1}=\|x-y\|
\end{aligned}
$$

Thus

$$
\|B x-B y\| \leq\|x-y\|
$$

One may also show in a similar way that

$$
\|B x-B y\| \leq \delta\|x-y\|
$$

holds if we know the existence of a $\delta \in(0,1)$ and that for all $\epsilon>0$

$$
[x, y \in \mathbb{M},\|x-y\|>0] \Rightarrow\|H x-H y\| \leq \delta\|x-y\|
$$

The proof is complete.

Theorem 2. Let $\left(P_{T},\|\cdot\|\right)$ be the Banach space of T-periodic real valued functions and $\mathbb{M}=\left\{\varphi \in P_{T}:\|\varphi\| \leq L\right\}$, where $L$ is a positive constant. Suppose that (2)-(5) and (18)-(21) hold. Then equation (1) has a T-periodic solution $\varphi$ in $\mathbb{M}$.

Proof. By Lemma 1, $\varphi$ is a solution of (1) if

$$
\varphi=A \varphi+B \varphi
$$

where $A$ and $B$ are given by (16) and (17) respectively. By Lemma 3, $A: \mathbb{M} \rightarrow \mathbb{M}$ is completely continuous. By Lemma $4, A \varphi+B \psi \in \mathbb{M}$ whenever $\varphi, \psi \in \mathbb{M}$. Moreover, $B: \mathbb{M} \rightarrow \mathbb{M}$ is a large contraction by lemma 5 . Thus all the hypotheses of Theorem 1 of Krasnoselskii are satisfied. Thus, there exists a fixed point $\varphi \in \mathbb{M}$ such that $\varphi=A \varphi+B \varphi$. Hence (1) has a $T$ - periodic solution.

## References

[1] Ardjouni, A., Djoudi, A., Periodic solutions in totally nonlinear difference equations with functional delay, Stud. univ. Babes-Bolyai Math. 56 (2011), No. 3, 7-17.
[2] Ardjouni, A., Djoudi, A., Existence of periodic solutions in totally nonlinear neutral difference equations with variable delay, Caspian Journal of Math. Sc. 56 (2012), No. 3, 7-17.
[3] Burton, T.A., Liapunov functionals, fixed points and stability by Krasnoselskii's theorem, Nonlinear Stud. 9 (2002), No. 2, 181-190.
[4] Burton, T.A., Stability by fixed point theory for functional differential equations, Dover Publications, Inc., Mineola, NY, 2006.
[5] Eloa, P., Islam, M., Raffoul, Y.N., Uniform asymptotic stability in nonlinear Volterra discrete systems, Special Issue on Advances in Difference Equations IV, Computers Math. Appl. 45 (2003), 1033-1039.
[6] Islam, M.N., Yankson, E., Boundedness and stability in nonlinear delay difference equations employing fixed point theory, E.J. Qualitative Theory of Diff. Equ. 1-18 (2005), No. 26.
[7] Kelly, W.G., Peterson, A.C., Difference Equations: An introduction with applications, Academic Press, 2001.
[8] Maroun, M.R., Raffoul, Y.N., Periodic solutions in nonlinear neutral difference equations with functional delay, J. Korean Math. Soc. 42 (2005), No. 2, pp. 255-268.
[9] Raffoul, Y.N., Periodicity in general delay non-linear difference equations using fixed point theory, J. Difference Equ. Appl. 10 (2004), No. 13-15, 1229-1242.

University of Cape Coast
Department of Mathematics and Statistics
Cape Coast, Ghana
E-mail address: ernestoyank@gmail.com
University of Cape Coast
Department of Mathematics and Statistics
Cape Coast, Ghana
E-mail address: ekessel04@yahoo.co.uk

